e ? 7TH24H

(1)

3)

(5)

(7

)

(@ —2b)(c—d)

(a + 2b)(c + 3d)

(a + 2b)(c + 2d)

(4—3a)(—b+5)

(—8+a)(3b—3)

1) (2a—9)(—5+b)

(2)

(4)

(6)

(8)

(10)

(12)

(x — Dy +5)

(a+4)b+4)

(x+6)(y+1)

(8 4+ x)(7+ 3y)

(x+2)(—y—17)

(x +5)(2y +9)



(13)

(15)

(17)

(19)

(21)

(23)

(25)

(27)

(a+1D(—=3b+1)

(—5+4+2a)(b+4)

(—6+a)(—3b+3)

(24 3a)(—9+b)

(a —b)(c— 2d)

(a—6)(b—17)

(—4+x)(5+3y)

(@ —b)(c— 2d)

(14)

(16)

(18)

(20)

(22)

(24)

(26)

(28)

(—2+9(=3y+17)

Bx—2)(—4+y)

(6+3x)(—1+y)

(=3+x)(—3y+6)

(a+9)(3b—75)

(@ —=b)(c+d)

(x—2)(y — 6)

(5—a)(b—3)



®)

%)

(7)

)

(11)

(13)

(17)

(19)

(21)

(23)

(25)

(27)

ac— ad — 2bc + 2bd

ac + 3ad + 2bc + 6bd

ac + 2ad + 2bc + 4bd

3ab— 15a — 4b + 20

3ab— 3a — 24b + 24

2ab— 10a —9b + 15

—3ab+a—3b+1

2ab+ 8a —5b— 20

—3ab+ 3a+18b— 18

3ab—27a+2b— 18

ac — 2ad — bc + 2bd

ab—Ta— 6b+ 42

3xy + 52— 12y — 20

ac— 2ad — be + 2bd

(2)

(4)

(6)

(8)

(10)

(12)

(14)

(16)

(18)

(20)

(22)

(26)

(28)

xy +5x — Ty — 35

ab+ 4a+ 4b+ 16

xy +x+6y—+6

3xy + Ta + 24y + 56

—xy —Tx— 2y — 14

2xy +9x + 10y +45

3xy — Tx— 27y + 63

3xy — 1204 — 2y +8

3xy —3x+ 6y —6

—3xy +6x+ 9y — 18

3ab—5a+27b— 45

ac+ ad —be—bd

xy —6x— 2y +12

—ab+3a+5b—15




